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class: VDI 
Jender Heart Higk School, Sec. -336 chd. 

Jeoch er iSeepa 

Surtace 

Subject Mathe malès 
obicclhabter-24: Volue and bunkace area af soids 

|Aiy objecb that cceubies sbate is caled sod 
Volui : Jhe inner sþaa ocubied by Cbjec 

Suae 
Forkulas 
Cubo, 

is called vou. 

Lateral Sua 

Cubei 

Cuboid 

Cube 

area: Jhe total area -lhal t burale 

te dbjet ocubis is 

PSutfoc 0rea 

Jt s the measure 
Qrea the 

GoDiagonel v) Volume 

(i) TS. a = 
) LSA 

tue 

(i) TSA = 20 Lb + bh thl 

las -S.A -2l+b) x h 

= 

alasste 

Area a! 4nwalls = 2(l+b)xh 

ci) Diagonal 

Date 

G) Voume = 

Poge 

Ga 

avg 

all te 

lxbxh 
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Classivn 
Subject:Mathenmalis JSbic icha bte - 24: 

V5lume and 

alinder: 

Sxercise -24A 

Volune 

Suiace 

of 

So,the 

area 

= 21yh. 
C)Cs. A Caved Sustale 

Sny Dimesions a! a foom' -15m, bo 4m, hoGo Caa 
15o0 Cm 

Ci) Ts-A (6tal Surface areas 

cdacsnste 

-500m 

dnel12 m 
Kength a the lonyest p5lu 

Dale 

Pace 

a room lbXh 15D0x 400 x6o 

imenens af aþlank ? lo5m, b=24cm, hlo n 

b& mn h= 9m 

Voume of a blank= xbxh= 600 X24 XIO 
no o Blank'= Vb lume olaroom 

V lume o a þlank 

area) 

I7m 

s 7m 

300 

J(23+(8+at 
/144+64 + 81 



class:vm 
Subjeet:Mahemals 
Tspie: cha7ter-z4 

Volue and Surtale area 

an Voume o Cubod 972 m 
l=lbmb13.5 m 

Voum c = 972 
lxbx h 4 7 2 

2 

S8ato. z 8m, b=6- 5m, h 3-S m 

Grea ay HnJalls-al+b) Xh 
= A(8+65)3 s) 

= 2x]45x35 
lo-5 m 

Qlea 

23|4 m2 

eachet: )ecpl 

Sanie. imensians f a hal i lo 4Sm, be 3om, h> lb 

Sim ensons a door : l Hm, b35m 

6o Area ef walls Ven cluldig doors and nindous 

2 

i) rea el Gailiny oo 

2 

the 

Cü) drea of foor lxb 

dreaa 4walls -5xdrea af dosrs -4xdEad 
= a(45+30)xlb -5x4x35 -4X2:5 XI6 

= 

52 m 

its walls E35 þerm: 2314 X 35 

= lxb45 x3 0 

n 

= t8099p 

lo o = F154 X13S0 

Q 400 m - 70m-16 m 

350 m 



class:Vn 
Subjeet:Mathe mahis 

JopieChaterc24 V6lume and Surfale 
Exerde -2 B 

Volume of lank = 6l 60m 
Cast ol banlng 

V5 lume 

2 

C:S.A = 21rh = 

m 

|Cost of þainlig 

¡b csA =? 
GIbom? 

22 yy4 X h = 6l6 o 

area 

TS. A=1320 Cm 
Ts.A =|3 20 

211 r(f th)I32o 

h? 

= l0fu 

r=/0C 

2x22- xlo (10+h)=I320 

2x 22 y4 x lo =88O m 

440(10 +h) = I3 20 

h 2) -lo 

Jeacher:Deepl 

dhsste 

it = #3o X880 = 264 C0 

lo +h +3 2o X 7 

Daie 

Page 

l1 Cw 

rel4m 

2 

h 2 

=2] 
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